<
2
o
=
w
(9]
©
=3
) /
-~ SN
/(2]
/
\ ~
/ 4\7 )
VAP o
v "
N om0
(00— — — |// “ /
NN
.

_Aeft side frame
" reference only.

t
\\
\
\E
\_See Detail "A"

S

/
2/

I / / N & T
-/ DA W% N
/ \

7

Adjustable Flip-Up Removable Footboard - Before 3/1/2000
90FBI (Sling Seat) and 90FB (Captain Seat)



Adjustable Flip-Up Removable Footboard - Before 3/1/2000
90FBI (Sling Seat) and 90FB (Captain Seat)

Quantity Per

Iltem

Number | Note | Part Number |Description Package | Assembly
1 1029501 Plug Button, Black (1") 1 2
2 7930330-NLA | NLA - Locknut (5/16-24) 25 1
3 1074138-NLA | NLA - Spacer (5/16 x 3/4 x 1") 1 6
4 1074133 Washer, Steel (5/16 x 3/4 x 1/16") 1 2
5 1028600-NLA | NLA - Screw, Hex Head (5/16-24 x 3") 1 6
6 1025704 Washer, Flat (5/16 x 5/8 x 1/16") 1 6
7 H 1074154-NLA | NLA - Footboard Pivot Assembly - Right 1 1
7 H 1074155-NLA | NLA - Footboard Pivot Assembly - Left 1 1
8 I 1074132-NLA | NLA - Footboard Mounting Hardware (Pair) 2 1
9 1074136-NLA | NLA - Bracket, Mounting, Black 1 1
10 1074210-NLA | NLA - Washer, Nylon (23/64 x 3/4 x 5/32") 1 2
11 7930330-NLA | NLA - Locknut (5/16-24) 25 1
12 1070552-NLA | NLA - Screw, Hex Head (5/16-24 x 1-1/8) 1 1
13 1025704 Washer, Flat (5/16 x 5/8 x 1/16") 1 1
14 1074130-NLA | NLA - Tube, Pivot 1 1
15 40188X009 Button, Single Snap 1 1
16 1027097 Plug Button, Black (3/4") 1 1
17 A 1029545 Screw, Socket Flat Head (1/4-20 x 3/4") 1 2
18 15680X012 Collar, Anti-Rattle (7/8") 1 1
19 1016346 Cap, End, Tube, Black (7/8") 1 1
20 1074137-NLA | NLA - Tube, Footplate Support, Black 1 1
21 1027097 Plug Button, Black (3/4") 1 1
22 A 1082686 Nut, Barrel, Hex Head (1/4-20 x 11/16") 1 2
23 A 1058517 Clamp, Footplate 1 1
24 J 1074131-NLA | NLA - Footboard Assembly Hardware (Per Side) 1 2
25 C 1074129-NLA | NLA - Footboard 1 1
26 B.,F 1078192-NLA | NLA - Kit, Footboard w/ Instruction Sheet 1 1
G,K 1078193-NLA | NLA - Instruction Sheet, Footboard Assembly 1 1
E,G 1094635 Kit, Footboard Conversion (16" W) 1 1
D,E,G,| 1094636-NLA | NLA - Kit, Footboard Conversion (18" W) 1 1
L (Including 22" W Captain Seats)
E,.G 1094637-NLA | NLA - Kit, Footboard Conversion (20" W) 1 1
NOTE: A-lItems 17, 22 and 23 must be ordered together for chairs made before 8/10/99 due to a hardware change.

B - Footboard assembly kit before 3/1/00 is NLA. New style footboard assembly must be ordered. Refer to conversion kits
listed on this page.
C - Footboard before 3/1/00 is NLA.

D - All Captain seats will use footboards for 18" wide chairs.

E - Footboard assembly conversion kits for chairs made before 3/1/00.
F - Includes items 1-25.

G - Not Shown.

H - Includes items 9-16.

| - Includes items 1-7.

J - Inlcudes items 17-23.
K - Before 3/1/2000.

L - Includes items 9, 19, 26 and Instruction Sheet.




